## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving and Authorizing Budget Amendment #1 of Hewel Ni'ok's KOHN CPB CSG FY 2015 Budget; and adjusting the Indirect Cost Rate)

**RESOLUTION NO. 15-112** 

1	WHEREAS,	by Resolution #14-381, the Tohono O'odham Legislative Council (Council)
2		approved and authorized the fiscal year budget of Hewel Ni'ok's KOHN CPB CSG
3		(Grant) for 2015; and
4	WHEREAS,	the Tohono O'odham Nation (Nation) received from the Corporation for Public
5		Broadcasting (CPB) of the grant allocation for the current grant year 2015 - 2016
6		in the amount of \$216,212.00 which is an increase of \$16,553.68; and
7	WHEREAS,	at fiscal year-end September 30, 2014, the stand alone audit identified
8		\$34,229.00 remained uncommitted which is permitted by CPB to be carried
9		forward into the current fiscal year 2015; and
10	WHEREAS,	Hewel Ni'ok management has prepared the attached Amendment #1,
11		incorporated into this resolution by this reference, to obligate the total
12		available funds, \$50,782.68, for the current fiscal year; and
13	WHEREAS,	obligating these funds will also adjust the calculated administrative support,
14		commonly known as Indirect Cost (IDC), by \$481.11; and
15	WHEREAS,	Amendment #1 as presented, provides additional allocations for operational
16		line items and adjusts the calculated IDC; and
17	WHEREAS,	budget amendment #1 of Hewel Ni'ok's KOHN CPB CSG FY 2015 budget was
18		presented to the Cultural Preservation and Budget and Finance Committees for
19		review and recommended approval.
20	NOW, THERE	FORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that the
21		attached budget amendment #1 for the Hewel Ni'ok's KOHN CPB CSG FY 2015
22		budget is hereby approved and authorized as presented to provide additional
23		allocations for operational line items and adjusts the calculated IDC.
24	BE IT FURTH	ER RESOLVED that the net adjustment of amendment #1 increases Hewel Ni'ok's
25		KOHN CPB CSG FY 2015 budget by \$51,263.79 from \$239,723.37 to \$290,987.16.
26	BE IT FINALL	Y RESOLVED that the Tohono O'odham Legislative Council hereby authorizes the
27		Chairman and any designated official to expend and administer the budget as
28		attached, provided that any amendments affecting the funds or funding level is
29		submitted for further prior approval by the Tohono O'odham Legislative
30		Council.

RESOLUTION NO. 15-112

(Approving and Authorizing Budget Amendment #1 of Hewel Ni'ok's KOHN CPB CSG FY 2015 Budget; and adjusting the Indirect Cost Rate) Page 2 of 3

1 2 3 4 5 6 7 8	day of APRIL, 2015 at a meeting at which a quorum was present with a vote of 2,926.9 FOR AGAINST; -0- NOT VOTING; and [05] ABSENT, pursuant to the powers vested in the Council Article VI, Sections 1(f) of the Constitution of the Tohono O'odham Nation, adopted by Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assis Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Assis	i <u>-0</u> - il by the
8 9 10 11 12 13 14 15 16	TOHONO O'ODHAM LEGISLATIVE COUNCIL  Timothy Joaquin, Legislative Chairman	
17 18 19 20 21 22 23	ATTEST:	
24 25 26 27 28 29 30	day of	m.,
31 32 33 34 35 36 37	TOHONO O'ODHAM LEGISLATIVE COUNCIL  Multiple  Timothy Joaquin, Legislative Chairman	
38 39 40 41 42 43 44	[ ] DISAPPROVED on the	
45 46 47 48 49 50	Mulleve Majners   For NED NORRIS, JR., CHAIRMAN TOHONO O'ODHAM NATION	

Returned to the Leg	islative Secretary on the	day of	
- If lax	sislative Secretary on the , 2015, at 2.50° c	lock,m.	
Evonne Wilson, Leg	islative Secretary	<del></del>	

APPROVING AND AUTHORIZING BUDGET AMENDMENT #1 OF HEWEL NI'OK'S KOHN CPB CSG FY 2015 ACTION:

BUDGET; AND ADJUSTING THE INDIRECT COST RATE

MOVED: COUNCILMAN QUINTIN C. LOPEZ

SECOND: COUNCILMAN LOUIS R. LOPEZ

ADDIT 29 2015

DISTRICT	LEGISLATIVE REPRESENTATIVES	#OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. LUCINDA ALLEN	112.1	Х			
224.2	(Nicholas Jose) 2. MARY LOPEZ ( )	112.1	X			X
SELLS	1. ARTHUR WILSON (Ophelia Patten)	251.0	Х			
502.0	2. BARBARA HAVIER (Beverly Rivas )	251.0	X			X
SCHUK TOAK 174.2	1. FRANCES B. STEPHENS (Anthony J. Rios)	87.1	X			^
174.2	2. QUINTIN C. LOPEZ (John Fendenheim)	87.1	X			
SAN XAVIER 224.2	1. HILARION CAMPUS (Daniel L.A. Preston, III)	112.1	X			
224.2	2. RACHEAL VILSON-STONER (Absent) (Olivia Villegas-Liston) (Present)	112.1	X			X
SAN LUCY	1. DIANA MANUEL (Gloria Ramirez)	109.8	x			
219.6	2. JANA MONTANA ( )	109.8	X			_
PISINEMO 210.6	1. CHESTER ANTONE (Tony Murrietta)	105.3	x x			
	2. EDWARD MANUEL, SR.	105.3	X			X
HICKIWAN 196.9	1. LOUIS R. LOPEZ ( ) 2. SANDRA ORTEGA	98.45 98.45	x			
GU VO	(Manuel Osequeda, Jr.)  1. GRACE MANUEL	120.5	X			
241.0	(Floyd Flores) 2. PAMELA ANGHILL (Jeffery Antone, Sr.)	120.5	x	į	:	x
GU ACHI	1. TIMOTHY L. JOAQUIN	128.65	Х			
257.3	2. LORETTA LEWIS (Louis Johnson)	128.65	X			
CHUKUT KUK	1. ETHEL GARCIA (Marlakay C. Henry)	159.6	Х			
319.2	2. BILLMAN LOPEZ	159.6	×			
BABOQUIVARI	1. FRANCES MIGUEL (Roberta Harvey)	178.85	Х			
357.7	2. VERNON J. SMITH (Gloria Zazueta)	178.85	Х			
	TOTAL	2,926.9	2,926.9	-0-	-0-	[05]